1. Find each. Write answer in both Scientific Notation and Standard Notation.
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Simplify each. Make sure answers don't have exp_({l_ents that are zero or negative.
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Sec 8-3: Multiplication Properties of Exponents

Multiplying Powers With the Same Base

n m = n

For every nonzero number ¢ and mtegers mandn,a " *a "= a

When you multiply powers with the same base you

ADD EXPONENTS

4. -42B-8C*4°B5CB3
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5. (2m*n~3p)(4*m>n?p")




Evaluateeachfor4 =-4 B =6 =3
Give fractional answers in reduc;ed form (no decimals)
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Find product without a calculator. Give
your answer in Scientific Notation.

(2.5 x 10")(3 x10°) (6x107°)(4 x 10 )%

1.5 x4l 5“{)(1() -9

Simplify each.
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Section 8-4: More Multiplication Properties
of Exponents

Raising a Power to a Power:

(x”)b = xab Multiply exponents

Raising a Product to a Power

For everv nonzero number o and 5 and mteger ». (ab) " = a "5

Every part inside the parentheses is raised to
the exponent that's on the outside.



Simplify each. Make sure answers don't have any
exponents that are zero or negative.
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Simplify. Make sure your answer doesn't have any exponents that are
negative or zero.
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Simplify each.
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You can now finish Hwk #12

Sec 8-4

Pages 413-414

Problems 4-8, 13, 15, 17, 20-22, 51

IXL #7 - V.4 & W.1 due Friday at 4pm!



